

VÝPOČET ÚROVNE VYTRIEDENIA KO

$$\text{ÚV}_{\text{KO}} = \frac{\begin{array}{cccccccccccc} 200101 & 200102 & 200103 & 200139 & 200121 & 200123 & 200135 & 200136 & 200140 & 200104 & 200201 & 200125 & 200133 \\ 73,567 & 18,2 & 0,19 & 21,092 & 0,013 & 1,791 & 1,133 & 3,634 & 1475,311 & 12,279 & 217,51 & 0,047 & 8,587 \end{array}}{4538,837} \times 100 (\%)$$

$$\text{ÚV}_{\text{KO}} = \frac{1833,354}{4538,837} \times 100 (\%)$$

$$\text{ÚV}_{\text{KO}} = 0,403926 \times 100 (\%)$$

$$\text{ÚV}_{\text{KO}} = 40,39\%$$